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1) 

                    1 tray has 2 apples 

Therefore  5 trays have (2×5) apples 

                                            =10 apples 

Ans: 10 apples. 

 

2) 

                    1   bunch   has   5 bananas 

Therefore  4 bunches have(5×4) bananas 

                                                 =20 bananas 

Ans:20 bananas. 

 

 



3) 

                       1  bench  sit  3 students 

  Therefore    4 benches sit (3×4) students 

                                                 =12 students 

Ans: 12 students. 

4) 

                  1 plate has  5 tomatoes 

Therefore 4 plates have(5×4)tomatoes 

                                            =20 tomatoes. 

Ans: 20 tomatoes. 

5) 

                       1 Plate has  5 lychees 

   Therefore   6 plates have(5×6) lychees 

                                                =30 lychees. 

Ans: 30 lychees. 



6)                1 day Meena reads 2 pages 

 Therefore 6 days Meena reads(2×6)pages 

                                                          =12 pages 

Ans: 12 pages. 

7) 

                   1 rickshaw has  3 wheels 

Therefore  5 rickshaw have(3×5)wheels 

                                                   =15 wheels 

Ans: 15 wheels. 

8) 

                       1 plate has 3 guavas 

    Therefore  4 plates have(3×4)guavas 

                                                  =12 guavas. 

Ans:12 guavas 

 9) We know, 



                            1 cow has  4 legs 

      Therefore  7 cows have (4×7) legs 

                                                    =28 legs. 

Ans: 28 legs. 

10) 

                      1 car has 4 wheels 

    Therefore 5 cars have(4×5)wheels 

                                             =20 wheels 

Ans: 20 wheels. 


